Precision Farming Profitability

Chapter 5 - Quiz

True/False Section:

1. True/False:
Site-specific fertilizer applications should be based upon recent soil 

nutrient maps.

2. True/False:
Weeds tend to be in isolated patches within fields.

3. True/False:
GPS is an excellent way to improve accuracy of application.

4. True/False:
GPS guidance allows accuracy at higher speeds.

5. True/False:
GPS guidance is less affected by the weather.

6. True/False:
Most likely in three years the GPS system will be out of date.

7. True/False:
GPS is not affected by wind or boom bounce.

8. True/False:
The useful life of both GPS and foam systems are difficult to estimate.

9. True/False:
Both foam markers and GPS guidance are easy to use.

10. True/False:
Effective and efficient weed control can be achieved through the use of 

site specific management methods, GPS, and variable rate technologies.

Multiple Choice Section:

11. GPS verses foam markers (choose all that apply):

a. GPS parallel swathing is more reliable and more accurate than foam markers

b. GPS will replace foam markers within the next two years

c. Foam markers have lower recurring costs

d. GPS guidance reduces operator fatigue and eye strain

e. Both a and d

12. GPS guidance cost:

a. The range of cost for a GPS system is $1,000-$14,500

b. The range of cost for a GPS system is $10,000-$55,500

c. The range of cost for a GPS system is $1,000-$3,000

d. None of the above

13. Cost and benefits vary widely depending upon (choose all that apply):

a. The crop

b. The acreage covered

c. Swathing accuracy

d. A, B, and C

14. Per acre costs:

a. The GPS system has increasing per acre costs

b. The foam marker system has increasing per acre costs

c. The GPS system has decreasing per acre costs

d. The foam marker system has constant per acre costs

15. Economic impact of skips (choose all that apply):

a. Skips are more costly in higher value crops

b. If a skip occurs in a clean field the effect could be disastrous

c. In a heavily infested field, yields could drop to zero

d. Skips are more costly in lower value crops

e. Both a and c

16. Variable-rate herbicide applications (choose all that apply):

a. Variable rate herbicide applications and variable-rate fertilizer applications have been used for the same amount of time.

b. Variable rate fertilizer applications and variable rate herbicide applications can use the same equipment.

c. The two groups of variable-rate herbicide applications are soil applied and post-emergence.

d. None of the above

17. Benefits of using variable-rate herbicide applications do not include:

a. Reduced crop injury that require lower rates

b. Improved weed control

c. Reduced applications to areas that may experience negative effects of herbicides

d. Reduced crop injury that require higher rates

18. Variable-rate post emergence herbicide applications (choose all that apply):

a. The goal of VRT  for post-emergence herbicide applications is to reduce the rate in some areas and increase the rate in other areas as needed

b. Visually identifying weeds is critical for successful site-specific weed management systems.

c. The entire field still receives herbicide applications

d. All of the above

19. Site-specific weed scouting methods:

a. Accurate mapping of soil nutrients is necessary for accurate fertilizer applications

b. Use of a GPS yield monitor equipped with a “marking unit” to map weedy areas for special treatment 

c. The goal of each method is accurately assess weed populations across the field.  

d. All of the above

20. Estimated net gains:

Table 3 from book (Chapter 5 by Medlin and Lowenberg-Deboer, pg. 54)

	Herbicide Management System

	
	One Treatment
	Application of Optimum Treatments to Individual Areas

	Location
	$ Gained/treated acre
	$ Gained/treated acre

	Field 1
	13.19
	41.1

	Field 2
	79.1
	84.45

	Field 3
	38.79
	65.15

	Field 4
	-11.44
	76.02


From the table above:

a. Application of optimum herbicide treatment to individual areas could increase crop yield

b. Application of optimum herbicide treatment to individual areas does not potentially increase crop yield

True/False:

1. T, 2. T, 3. T, 4. T, 5. T, 6. F, 7. T, 8. T, 9. F, 10. T

Multiple Choice:

 11. E, 12. A, 13. D, 14. A, 15. E, 16. E, 17. D, 18. D, 19. D, 20. A

